
2 ptsPrimary 3 Science (Term 4)

Name:  ____________________________

Date:  ____________________________

Signature:  ____________________________

Test:  Primary 3 - Term 4 (SA2) Science (TN)

Points:  52 points

Score: ____________

Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 56

Section A: 22x2 marks 
 
Which of the following shoes the correct examples of living things and non-living things? 

A) 1

B) 2

C) 3

D) 4
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A) A and B

B) A and C

C) B and D

D) C and D
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A) Living things can die

B) Living things can grow

C) Living things respond to changes around them

D) Living things need air, food and water to survive
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A)

B)

C)

D)
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A)

B)



C)

D)
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A) 1

B) 2

C) 3

D) 4
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A) They have scales

B) They have four legs

C) They swim using their fins

D) They give birth to their young alive
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A) 1

B) 2

C) 3

D) 4
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A) A

B) B

C) C

D) D



2 ptsPrimary 3 Science (Term 4)Question 10 of 56

A) A

B) B

C) C

D) D
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A) It is a flowering plant with a weak stem

B) It is a flowering plant with a strong stem

C) It is a non-flowering plant with a strong stem

D) It is a non-flowering plant with a weak stem
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A) Plant A

B) Plant B

C) Plant C

D) Plant D
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Question 13 of 56

A) B and C

B) C and D

C) A, B and D

D) A, B, C and D

Question 14 of 56

Sarah's grandmother has lost most of her teeth but she still needs to eat her food. What will
most likely happen to the food that she has taken as compared to her having her full set of
teeth?

A) The food cannot be digested at all

B) The food cannot be absorbed at all

C) The food will take longer time to digest

D) The food can be chewed into smaller pieces
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A) W and X

B) W and Z

C) X and Y

D) Y and Z
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A) It is light

B) It can bend easily

C) It does not break easily

D) It allows most light to pass through it
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A) 1

B) 2

C) 3

D) 4
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A) A

B) B

C) C

D) D
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A) C and C

B) C and F

C) D and E

D) E and F

Question 20 of 56

A) iron

B) gold

C) wood 

D) plastic
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A)

B)

C)



D)
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A) Increase the number of batteries

B) Change the iron nail to an aluminium nail

C) Change the steel needles to plastic needles

D) Decrease the number of coils of wire around the iron nail
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Question 23 of 56

This section is designed for extended answers that parent/ teacher will have to assign
and guide child to attempt after the test has been completed. 
Grading: This question type is not graded on this system and will not affect the final
score as it was designed in such a way that it requires manual assistance. 

 
Based on the table, what do the snails eat?

A) Leaf B

B) Leaf A

Question 24 of 56

The number of snails had increased over 20 days. Explain why.
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Question 25 of 56

What can you conclude about the characteristics of living things from the table?

Question 26 of 56

Besides both living on a tree, state another similarity between the above fern and fungi.

Question 27 of 56

State a difference between the fern and the fungi
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Question 31 of 56
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Question 33 of 56

Explain how climbing up the pole helps the above plant grow better?



1 ptPrimary 3 Science (Term 4)

1 ptPrimary 3 Science (Term 4)

Question 34 of 56

Question 35 of 56
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Question 36 of 56

State one function of System X.

Question 37 of 56
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Question 41 of 56

Linda made a statement, "Digestion ends at D." 
Linda's teacher said that her statement was incorrect. Explain Why.
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Question 45 of 56

Question 46 of 56

Based on the above diagram, what property must material Y have? Explain your answer.

Question 47 of 56

What would Material X most likely be? 

A) Wood

B) Metal 

C) Plastic

D) Ceramic
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Question 48 of 56

Question 49 of 56

Which bar, W, X or Y is a magnet? Explain your answer
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Question 51 of 56

What can Jessica do to make the results of her experiment more reliable?
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